

Integrales inmediatas	
$\int dx = x + C$	$\int \frac{f'}{\sqrt{1-f^2}} dx = \arcsen f + C$
$\int f' \cdot f^n dx = \frac{f^{n+1}}{n+1} + C$	$\int \frac{-f'}{\sqrt{1-f^2}} dx = \arccos f + C$
$\int \frac{f'}{f} dx = \ln f  + C$	$\int \frac{f'}{1+f^2} dx = \text{arctag } f + C$
$\int f' \cdot a^f dx = \frac{a^f}{\ln a} + C$	$\int \frac{-f'}{f\sqrt{f^2-1}} dx = \text{arccosec } f + C$
$\int f' \cdot e^f dx = e^f + C$	$\int \frac{f'}{f\sqrt{f^2-1}} dx = \text{arcsec } f + C$
$\int \frac{f'}{2\sqrt{f}} dx = \sqrt{f} + C$	$\int \frac{-f'}{1+f^2} dx = \text{arcotag } f + C$

Integrales de funciones trigonométricas	
$\int f' \cdot \text{sen } f dx = -\text{cos } f + C$	
$\int f' \cdot \text{cos } f dx = \text{sen } f + C$	
$\int f' \cdot \text{tag } f dx = -\ln \text{cos } f  + C$	
$\int f' \cdot \text{cotag } f dx = \ln \text{sen } f  + C$	
$\int f' \cdot (1 + \text{tag}^2 f) dx = \text{tag } f + C$	
$\int f' \cdot (1 + \text{cotag}^2 f) dx = -\text{cotag } f + C$	
$\int f' \cdot \text{sec } f \cdot \text{tag } f dx = \text{sec } f + C$	
$\int f' \cdot \text{cosec } f \cdot \text{cotag } f dx = -\text{cosec } f + C$	